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1. If a is positive, then the quadratic function will have a
minimum. If a is negative, then the quadratic function will
have a maximum.

2. f(x) = 3x* + 24x — 6; Itis the only function that does not

have x-intercepts at x = —2 and x = 4, and a vertex at
(—1, —27).
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39. The minimum value is — 1. The domain 1s all real numbers and

the range is y = 1. The function is decreasing to the left of x =
0 and increasing to the right of x = 0.

41. The maximum value is 2. The domain is all real numbers and

the range is y < 2. The function is increasing to the left of x =
—2 and decreasing to the right of x = —2.
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43. The maximum value is 15. The domain is all real numbers and

the range 1s y < 15. The function is increasing to the left of x
= 2 and decreasing to the right of x = 2.

45. The minimum value is —18. The domain is all real numbers
and the range is y 2 —18. The function is decreasing to the
left of x = 3 and increasing to the right of x = 3.

47. The minimum value is —7. The domain is all real numbers and

the range is y = —7. The function is decreasing to the left of x
= 6 and increasing to the right of x = 6.
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